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E–196 

M. A. (First Semester)  

EXAMINATION, Dec.-Jan., 2020-21 

PSYCHOLOGY 

Paper First 

(Basic Psychological Processes—I) 

Time : Three Hours ]  [ Maximum Marks : 80 

    [ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- DL Kkr djus ds fy, fuEukafdr esa ls fdldk gksuk vko’;d gS \ 

¼v½ ,d iz;ksx’kkyk 
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¼c½ ekud míhid 

¼l½ ekud míhid rFkk rqyukRed míhid 

¼n½ rqyukRed míhid 

Which is important to measure DL, as given below : 

(a) A laboratory 

(b) Standard stimulus 

(c) Standard stimulus and comparable stimulus 

(d) Comparable stimulus 

2- vH;lu =qfV fuEufyf[kr esa ls dkSu&lh fof/k gS \ 

¼v½ lhek fof/k 

¼c½ lrr~ míhid fof/k 

¼l½ vkSlr&=qfV fof/k 

¼n½ ek=k vkadyu fof/k 

Which is the method of error of habituation as given below : 

(a) Methods of limits 

(b) Method of constant stimulus 

(c) Average error method 

(d) Magnitude estimation method 

3- RL dk iz;ksx fdlds fy;s fd;k tkrk gS \ 

¼v½ lhekUr  

¼c½ fujis{k lhekUr 

¼l½ foHksnd lhekUr 

¼n½ Åijh lhekUr 



 [ 3 ] E–196 

 P. T. O. 

For what RL is used ? 

(a) Threshold 

(b) Absolute threshold 

(c) Differential threshold 

(d) Upper threshold  

4- ckgj dh vksj ladsr djrh rhj ¼ia[k½ okyh js[kk ml js[kk ls cM+h 

izrhr gksrh gS tks fd vUnj dh vksj ladsr djus okyh rhj ¼ia[k½ okyh 

js[kk gSA ;|fi ;s nksuksa js[kk;sa leku yEckbZ dh gSaA bl izdkj dk Hkze 

dgykrk gS % 

¼v½ iksUtks Hkze 

¼c½ >wyuj Hkze 

¼l½ iksatsMkQZ Hkze 

¼n½ ewyj yk;j Hkze 

Line with arrowhead pointing outwards appears to be longer 

than line with arrowhead pointing inwards, though they 

 are in fact the same length. This type of illusion in known  

as : 

(a) Ponzo illusion 

(b) Zollner illusion 

(c) Poggendorff illusion 

(d) Muller Lyer illusion 
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5- izR;{kkRed j{kk dk izfrykse D;k gS \ 

¼v½ izR;{kkRed fuxjkuh 

¼c½ izR;{kkRed nsgyh 

¼l½ vopsru izR;{k.k 

¼n½ vrhfUnz; izR;{k.k 

What is the inverse of perceptual defense ? 

(a) Perceptual vigilance 

(b) Perceptual threshold 

(c) Sublimal perception 

(d) Extrasensory perception 

6- tc O;fDr xqykc ds Qwy dks ns[krk gS rks og mldh ia[kqfM+;ksa] iŸkksa 

vkfn dk vyx izR;{k.k uk djds lcdk ,d lkFk izR;{k.k djrk gS] 

rks bls dgk tkrk gS % 

¼v½ izR;{kkRed fLFkjrk 

¼c½ izR;{kkRed j{kk 

¼l½ izR;{kkRed laxBu 

¼n½ izR;{kkRed fuxjkuh 

When a person looks a rose flower, he/she does not perceive 

its petals or leaf but they perceive it as a whole flower. What 

does it means ? 

(a) Perceptual constancy 

(b) Perceptual defense 

(c) Perceptual organization 

(d) Perceptual vigilance 
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7- fuEufyf[kr esa ls dkSu&lk xq.k vo/kku esa ugha ik;k tkrk gS \ 

¼v½ vo/kku esa ‘kkjhfjd vfHk;kstu gksrk gS 

¼c½ vo/kku dk foLrkj lhfer gksrk gS 

¼l½ vo/kku esa foHkktu dk xq.k gksrk gS 

¼n½ vo/kku dk Lo:i HkkokRed gksrk gS 

Which of the following traits is not found in attention : 

(a) Attention has bodily adjustment 

(b) Attention has limited span 

(c) Attention has the trait of division 

(d) Nature of attention is affective 

8- p;ukRed vo/kku ds fl)kUr esa lcls igyk fl)kUr fduds }kjk 

izfrikfnr fd;k x;k \ 

¼v½ VªhleSu 

¼c½ czksMcsUV 

¼l½ ukjeSu ,oa ckscjks 

¼n½ uhlj 

Who found the first theory in theories of selective attention ? 

(a) Triesman 

(b) Broadbent 

(c) Norman and Bobrow 

(d) Neissar 
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9- v[kckj ds i”̀Bksa ij eksVs ,oa cM+s v{kjksa esa Nih [kcjksa ij vU; nwljs 

v{kjksa dh rqyuk esa /;ku tYnh tkrk gSA bldk dkj.k fuEufyf[kr esa  

ls dkSu&lk gS \ 

¼v½ míhid esa ifjorZu 

¼c½ míhid dk vkdkj 

¼l½ O;fDr dh bPNk 

¼n½ míhid dh uohurk 

In newspaper pages, news written in bold and big letters 

attract more attention than news written in small letters.  

Why ? 

(a) Changes in stimulus 

(b) Size of stimulus 

(c) Person’s desire 

(d) Novelty of stimulus 

10- I;kl gS ,d rjg dh % 

¼v½ pØh; vko’;drk 

¼c½ vpØh; vko’;drk 

¼l½ fof’k”V vko’;drk 

¼n½ lkekU; vko’;drk  

Thirst is a : 

(a) Cyclic need 

(b) Non-cyclic need 

(c) Specific need 

(d) General need 



 [ 7 ] E–196 

 P. T. O. 

11- lefLFkfr dh voLFkk cuk;s j[kus esa fdldh Hkwfedk vf/kd egRoiw.kZ 

gS  \ 

¼v½ FkSysel 

¼c½ gkbiksFkSysel 

¼l½ lsjhcsye 

¼n½ iSjkbVy yksc 

Which part is more important to maintain homeostatic 

condition ? 

(a) Thalamus  

(b) Hypothalamus 

(c) Cerebellum 

(d) Parietal lobe 

12- dqN yksx vkØkedrk bl fy, fn[kkrs gSa fd vU; yksxksa dk /;ku 

viuh vksj vkÑ”V dj ldsaA bl rjg dh vkØkedrk dks dgrs gSa % 

¼v½ cSjiw.kZ vkØkedrk 

¼c½ lk/kukRed vkØkedrk 

¼l½ nfer vkØkedrk 

¼n½ Li”V vkØkedrk 

Some people show aggression to attract others, this type of 

aggression is called : 

(a) Hostile aggression 
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(b) Instrumental aggression 

(c) Repressed aggression 

(d) Overt aggression 

13- eSDyhySaM dk izeq[k ;ksxnku fuEukafdr esa ls fdl {ks= essa gS \ 

¼v½ vuqeksnu dh vko’;drk 

¼c½ vkØkedrk izsjd 

¼l½ miyfC/k vfHkizsj.kk 

¼n½ ‘kfDr izsjd 

In which field McClelland’s contribution is main in the 

given below : 

(a) Need for affiliation 

(b) Aggressiveness motive 

(c) Achievement motivation 

(d) Power motive 

14- eSLyks ds vuqlkj vkReflf) izÑfr gS % 

¼v½ izof̀Ÿk 

¼c½ Nki 

¼l½ vfHkizsj.kk fodkl 

¼n½ izsj.kk esa deh 

According to Maslow the self-actualizing tendency is : 

(a) Instinct 

(b) Imprinting 

(c) Growth of motivation 

(d) Deficiency in motivation 
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15- izsjd gks ldrs gSa % 

¼v½ O;ogkj ls izHkkfor  

¼c½ izR;{k fujh{k.k 

¼l½ O;ogkj dks le>kus esa mi;ksx 

¼n½ O;ogkj dh Hkfo”;ok.kh esa mi;ksx 

Motives can be : 

(a) Inferred from behaviour 

(b) Observed directly 

(c) Used to explain behaviour 

(d) Used to predict behaviour 

16- ‘kjhj esa ikuh dh deh lkUnzrk fuEufyf[kr dks c<+k nsrh gS % 

¼v½ ikSVsf’k;e  

¼c½ bUlqfyu 

¼l½ lksfM;e 

¼n½ ‘kdZjk 

Water deficit in the body increases the concentration of : 

(a) Potassium 

(b) Insulin 

(c) Sodium 

(d) Glucose 
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17- vo/kku fuEufyf[kr esa ls fdldh ,d dh lfØ; voLFkk gS \ 

¼v½ psru 

¼c½ laosx 

¼l½ vopsru 

¼n½ eu 

Attention is an active part of one of the following : 

(a) Consciousness 

(b) Emotion 

(c) Subconscious 

(d) Mind 

18- laosx ds f}dkjd fl)kUr ds vuqlkj laosx cjkcj gS % 

¼v½ mnksyu ,oa laKku 

¼c½ mnksyu vkSj cqf) 

¼l½ xq.kkjksi.k ,oa O;k[;k 

¼n½ xq.kkjksi.k ,oa laKku 

According to the two-factor theory of emotion, emotion 

equals : 

(a) Arousal and cognition 

(b) Arousal and intelligence 

(c) Attribution and explanation 

(d) Attribution and cognition 
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19- nks ;k vf/kd ‘kfDr’kkyh míhid izsj.kk;sa tks ,d lkFk lqy>kbZ ;k 

izkIr ugha dh tk ldrha] dh voLFkk dgykrh gS % 

¼v½ m}sx 

¼c½ ruko 

¼l½ laosx 

¼n½ var)±) 

The arousal of two or more strong motives that cannot be 

solved or achieved together is known as : 

(a) Impulse 

(b) Tension 

(c) Emotion 

(d) Conflict 

20- fxClu us nwjh ,oa xgjkbZ ds izR;{k.k esa fuEufyf[kr esa ls fdls lcls 

vf/kd egRoiw.kZ ekuk gS \ 

¼v½ O;fDr ds vuqHko ,oa izf’k{k.k dks 

¼c½ míhid esa fufgr lwpuk dks 

¼l½ ,dus=h ladsr dks 

¼n½ f}us=h ladsr dks 

In distance and depth perception, which is more important 

according to Gibson ? 

(a) Experience and training of person 

(b) Information involved in stimulus 

(c) Monocular cue 

(d) Binocular cue 
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(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- ^euksHkkSfrdh* ‘kCn dk iz;ksx lcls igys fdlus fd;k Fkk \ 

Who used the word ‘Psychophysics’ first ? 

2- nsgyh ;k lhekUr fdrus izdkj ds gksrs gS \ uke fyf[k,A 

How many types of threshold and name them. 

3- vkSlr =qfV fof/k dk ,d mnkgj.k nhft,A 

Give an example of average error method. 

4- izR;{khdj.k LFkS;Z D;k gS \ 

What is perceptual constancy ? 

5- p;ukRed vo/kku dk fl)kUr fdlus izfrikfnr fd;k Fkk \ 

Who propounded the theory of selective attention ? 

6- vo/kku ds fdrus izdkj gksrs gSa \ uke fyf[k,A 

How many types are there in attention ? Name them. 

7- izsjd ds fdrus izdkj gksrs gSa \ 

How many types are there in motives ? 
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8- laosx D;k gS \ 

What is emotion ? 

9- var}ZU} ds izdkj fyf[k,A 

Name the types of conflict. 

10- Hkze ds izdkj crkb,A 

Name the types of illusion. 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A 

 Attempt any eight questions in 75 words. 

1- lrr~ míhid fof/k dks le>kb,A 

Discuss constant stimuli method. 

2- ladsr laKkiu fl)kUr dks la{ksi esa le>kb,A 

Write signal detection theory in short. 

3- /;ku dh eq[; fo’ks”krk;sa D;k gS \ 

What are the major characteristics of attention ? 

4- vkÑfr o i”̀BHkwfe ls vki D;k le>rs gSa \ 

What do you mean by figure and background ? 
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5- p;ukRed vo/kku D;k gS \ 

What is selective attention ? 

6- Hkze ,oa izR;{khdj.k esa vUrj crkb;sA 

Write difference between illusion and perception. 

7- vfHkiszj.kk ds izdkjksa dk o.kZu dhft,A 

Describe types of motivation. 

8- vfHkizsj.kkRed pØ dks le>kb,A 

Discuss motivational cycle. 

9- laosx ds izdkjksa dk o.kZu dhft,A 

Describe types of emotion. 

10- var)ZUn ds izdkjksa dks mnkgj.k lfgr le>kb,A 

Discuss types of conflict with example. 

 [k.M&n izR;sd 8 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % fdUgha nks iz’uksa ds mŸkj nhft,A 

 Attempt any two questions. 

1- izR;{khdj.k ds laxBu fu;eksa dk foLrr̀ o.kZu dhft,A 

Describe laws of perceptual organization in detail. 
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2- vfHkiszj.kk D;k gS \ lkekftd izsjdksa dk lfoLrkj o.kZu dhft,A 

What is motivation ? Describe social motives in 

 detail. 

3- laosx ds tsEl ykats fl)kUr dks le>kb,A 

Explain the James Lange theory of emotion. 
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